EARAROBREBRT —5 XN—ZXBISH—F 2023838288 (X)) 20EAH2H

WIl= g B2MB3— SRR [ E [ mEmE - | 9 00 e
[xE<%] 15 :2,600,000 3 . 23%&:1,040,000 3 . 337&:650,000 . 43&:390,000H 5 3&:260,000
BERE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
" Wy EREER . - . - EFHR_ (KH)
1 2 AR ATV 4 7 53.05 R %9_)7 1-1 36.7 5 (4_921) ok
RPURIA TSR BHAUYRTH— NVERTP—L
~ . s 5 | BEE 59.9 3-3 36.6| — 1 456 | EEMK (KH)
T 4 | Frya1—FuR 5.0 A 1/4) o |BHEE
R:F4RTU—bFryh BiEh/Suy— BE 2T
= o < EFEE : - . - fEKEL (JHE)
REZONAVE Y, # 5 | 0E 1(.10/02.)0 5-5 36.4 3 ff) EP;iHH
RPIRTA ISR B:YF4—X704 FHRERS
I B6 | KEEZ 1:00.3 6-6 3%.7| — 7 | 476 | KREEEH CKH)
41811 FLANLYT—0O 5.0 (1172 (-q) |REBEEB
R:N40 B:IARXF v =1 -]
—3 s 4 | ENfES) 1:00.3 2-2 37.2| - 6 | 475 |ETFE (W)
517110/ =2 /77 55.0 N (-5 | BT
RiRLVTAY BLVYREAUVD %S
> e 5 | TS 1:00.4 8-8 36.5| — 2 520 | BREEIEE (KH)
6 gl IAVDIYR e #56.0 (/2 9 | ) HFERH—LF1ITR
RIIART—ILYF— H:7—hkU3DO peldie]
SH_ N\ o6 | BIEK 1:00.6 9-9 36.5| — 9 501 | BAEE (I\Wh)
7179 |YP—NUX 53.0 ) 1) |NEHEF
RiZAZXAD=RAI A B:VIVN—L—Y 7S Rigig
S 58 | ARRES 1:00.6 12-12 [35.9| - 4 | 483 |KEHH= ()
8/5|6 RAIwF a5 (79<) -3 |25 :
R:O0—LIs 40 8B:RANIT7 L= EK W
=5 H o6 | EEEfEX 1:00.7 10-11 |36.4| — | 11 | 480 |EEEEX (KH)
o3| 17/=51 55.0 a2 (s |EHER
RYURAI4 TSR B:DVEFIU—bH 7357 RS
== i 6 | BARIE 1:00.7 4-4 37.3| - 8 | 496 |E=MEEEE (KH)
100111 AT7—% 55.0 F93) #8) NEEE
RIN=YISA Bty A J=HUTr—L
SIS Ngg— tv 8 | ElE—B 1:00.7 7-7 37.0 — 10 | 493 | BERE= (KH)
1118112| FIWAR7FTA X A52.0 F9%) () | CallsEd
R:FUYALAIVR B:IV9L BF lB—
n REKE : - - EFBE (KH)
1 7 ZR—=LHBZ K 4% 7 o 1.?21).1 11-10 36.8 12 (4353; g%’éj?
RIYZRI—==RI— B:5Y—T BERiE
@ 11— —®BIEfI
13—7+—
20—7F—
30—7— 2,10,4,1,5,11,12,8,9,3,7,6
43—F— 2,10,4,1,5,11,12,8,9,7,3,6
o ILRE
B s 2 9004 AR 2-4 5004 % 3= 2-4 1,270H 3EE 2-4-5 1,620/
B B 2 210 2=5 5504 B 2-4 3,340 3EH 2-4-5 12,480/
4 140 4-5 3504 F5 E 2-4 1,250H4
5 1604 =51 2-4 3,080H

ABIC OV TRUTEREERRODDZE. THRIIZEL.



